p ',l— fer Diererence OF ProporTiens:

-—

Tes
Nf.dl hljf,cﬁﬁeéib Ho Pl =%
Tt Sttt z. F-R

J;Hu (+ '“-nl; '

Where p'ec Zv . pli Fo
\ ~ 7 2z N,
4
vd p. RmERM o X g goj-p
N4y Ny+ny
Faeample Q)

Pavdbm Q«mxflu. c%, ks men and &co wemen where
oaked  uhethaa —ﬁwd, whould have « ?cmwt neax

theln  medldemce 200 Men and  grg women tMeRQ
th foseun o the  propomal . Test P hypothesta
that  proprtion 4 Men aud Wermen DA :faucwz
% the propsal ow 2ame oginat g thedy
cw nebk ak 57 fevel.

Ny =400 9¢y = 200

N, = éco %o = 326

| F;,= X o 200 _ = 0.5
n Loo
}
B = == 225 _ o0-54l
Ny )
AR 525
n,tn, lboo

9 =|-p §> G;,=|~o.5,;g = O+1}2¢

Scanned with CamScanner



ep| ; Fovmulate H, 5, 4,

Ho: P, =P,
He t PP (Two tatled)
_ﬁ}’ los, = o.05

Sh’f s: Tert the .éfo.ffb-lrfc

| '
05—054g

\/;' ) J(: 525)(0 415 )(_r_ 4L 60)

———
e —

~0-041 -
- > -1.269
\/ O.00103q
{Zl = 12269

Step L' Calttcal  Volue

’ 2, = lag

(SELF - COHC/QM(:on.

2= |. 2969 < 1496 = z,

o He Mo a-Coe_P‘bcoL

Bxawmple2 ) - |
In a [anﬂe a-lhu A, 20V yandom scumpls o} qoo &chool
hildbren  hod  degecttve  oe slhe. Tn othen laxge

(59, C% sndom m},/z,, % 2{600 da’lolw Mool the

Scanned with CamScanner



sOme d{_;!_d-‘ . Tu tHis &(ije’umz.e betuseen Y‘voyo&g"rfon jﬁ
orifteart ? (Obtaln a5y confidence Umbla dov the difference T
the population  proposifion.

e p

|
Ry =400 Pi=20" = 0.20

N, =\boo |
? Yo = 15%. = 0u|5

Va/ Zgzo/yd///

// S 7

e

(0e20X_q00) + (015D lbod) _ 8ot2ko o3

P - 900+ |boo 2550

P=o.lby Q= |- 016y = O-835
Step |+ Formulode Ho e 4,

4"0‘- ?\':P'L
Bi:P#E D (Twe datled test)

S‘Lef?", L'oso'(i':O-OS'.

Step 3:  Teat o stz . stadlatie

= P' “?'b _ 0-10 —-0.15

SRR R
\[Pw ) | =

C Nz vf@a[(,gr)(o 83&)(_!_+'_L_

. 00 oo

Os OY
\/ 0. 139716 Cq‘gg '1‘;;.—;)
Z = 2.21 }

Scanned with CamScanner



o m————

Scanned with CamScanner



